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1) limx  ( - 2x + 1)     ;   2)  limx  (
x –

 )    ;   3)  limx  ( x
x

 )   ;   4) limx  ( x x
x  )

5) limh  ( h h
h  )    ;   6) limh

h –  –
h  ;   7) limh h    ;  8)  limh h

:

1 (f  :f(x) = 7 x2 – 1.  f  - 1
2 (f    :f(x) = - 4 x2 + 24 x - 8

  f  3
3 (f    :f(x) = x3 – x.  f  0

                                       :
  f      :f(x) = 2x2 – 5x + 3

1.  a  f (a).
2.  

1.51.41.31.21.11a
f(a)
f (a)

:

  f      :f(x) = x –
x

3.  a  f (a).
4.  

3210-1-3a
f(a)
f (a)

:
I(
1.(3 + h)²h  0    3.002²   2.98².

2.
h

h  0      
..

.

3.4 + hh  0      4003  399
II(

  f  a:
1.f(x) = x² - 3x + 1  a = -1

2.f(x) = x –
x

a = 0

3.f(x) = x + 2   a = 2
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f    :f(x) = x2 – 2x + 4
  f ( a )  f  a

(  f ( 0 )    f ( 1 )    f ( 2 )
(  f( x).

(  ( O , i , j )  f  [ ]  ;
  (T1)  x = 0   (T2)   x =1  (T3)  x =2

(  (T1)  x = 0   (T2)   x =1  (T3)  x =2
(    f( 0.001)  f(1.01)   f(2.002)
(  (T1)    (T2)    (T3)

  :

  f]   ;[

1 . (  f(1) ; f(0) ; f(-1)
 (f (0) ; f (1) ; f (-1)
 (

  O     ;      B     ;      A
2 .]   ; [

  (f(x)  0         (f(x)  0
    (f (x)  0         (f (x)  0

3.  f]   ;[
 .  f(x) = x3 – 3x

]   ;  [  f(x) = 0

:
f   )c(

1.  f
2.  f (x)
3.f(x).
4.  ( T )  A
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